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ITE 1
3| 126] 1,0|Mononit [Ilicox 0,059 1,59 1,50| 2,65| 0,765 0,20 0,009] 0,5| 12,9 29,7| 44,8 79| 4,2
4| 130| 1,5|Mononit |Ilicok 0,068 1,61 1,51| 2,65| 0,758| 0,24 0,11 7.2 20,4| 52,8 11,8 7.7
7| 140| 2,0|{Brokc ITicox 0,061 0,014 0,8 9,1| 18,6| 56,1| 9,7| 5,7
CepenHe 3Ha4EHHS 0,063 1,60 1,50 2,65 0,761 0,22 0,012 05 9,7 229 512 98 59
Cep.-kBaapar. BiIXUIECHHS 0,005 0,01 0,00 0,00 0,005 0,024 0,004 04 290 596 581 195 1,76
Koeoiuient Bapiamii 0,075 0,01 0,00 0,00 0,007 0,107 0,307 0,8 030 0,26 0,11 0,20 0,30
ITE Ila
1 119] 1,5[Mononit [Ilicok 0,047 1,61 1,54| 2,65| 0,723 0,17 0,3] 12,3] 44,6| 33,7 64| 2,7
7| 139] 1,0|Monomit [ILicoK 0,055 1,64| 1,55] 2,65] 0,705] 0,21 1,3 6,7] 42,3] 36,5 8,7 45
CepenHe 3HaY€HHA 0,051 1,63 1,55 2,65 0,714 0,19 08 95 435 351 7,6 3,6
Cep.-kBajpar. BiIXHICHHA 0,006 0,02 0,01 0,00 0,013 0,024 0,7 3,96 1,63 198 1,63 1,27
Koedinient Bapiamii 0,111 0,01 0,01 0,00 0,018 0,129 09 042 0,04 0,06 022 0,35
ITE 16
1| 120] 2,5|Mononir [Ilicok 0,056 1,63]| 1,54 2,65| 0,717] 0,21 0,3 1,1} 24,9| 52,7| 14,2| 6,8
2| 122| 2,0|brokc IMicox 0,063 0,11 1,5| 30,5| 63,1 24| 24
3] 127| 3,0|{Momnonitr |ITicok 0,049 1,59| 1,52| 2,65| 0,748 0,17 0,11 1,2| 38,1 57,1 24| 1,1
6| 134| 2,0|Monomt |llicOK 0,062 1,62| 1,53] 2,65] 0,737] 0,22 0,1] 0,3] 13,9] 65,1] 10,0] 10,6
CepenHe 3HAYCHHSA 0,058 1,61 1,53 2,65 0,734 0,20 02 1,0 269 595 73 52
Cep.-xBazipar. BiIXHICHHS 0,006 0,02 0,01 0,00 0,016 0,025 0,1 0,51 10,19 5,67 5,86 433
KoeinienT Bapiamii 0,112 0,01 0,01 0,00 0,022 0,125 0,7 0,50 0,38 0,10 0,81 0,83
ITE 2
3| 128] 4,5|Mononitr |Cyrmanox | 0,278| 0,28 0,17| 0,11| 0,98 1,83| 1,43 2,68] 0,872| 0,85 0,043
6| 135| 3,1|brokc Cyrmunok | 0,184 0,25| 0,16] 0,09| 0,27 0,042
7| 141]| 3,9|Mononir |Cyrmmmok | 0,265| 0,27 0,19]| 0,08| 0,94| 1,86 1,47 2,68/ 0,823 0,86] 0,054
8| 142| 3,6|brokc Cyrmasok | 0,353 0,36] 0,23| 0,13| 0,95 0,069
CepenHe 3Ha4ECHHA 0,270 0,29 0,19 0,10 0,78 1,85 145 2,68 0,847 0,86 0,052
Cep.-KBajpaT. BiAXHIECHHA 0,069 0,05 0,03 0,02 0,34 0,02 0,03 0,00 0,035 0,006 0,013
Koedinient Bapiamii 0256 0,17 0,17 022 04 0,01 0,02 0,00 0,041 0,007 0,242
ITE 3
1| 121] 3,5|Brokc Cymicok | 0,196/ 0,21] 0,16] 0,05] 0,72 0,024
2] 123] 3,6/Mononir |Cymicox | 0,187 0,20 0,14 0,06/ 0,78 1,82| 1,53| 2,67| 0,741} 0,67| 0,031
4| 131 3.5|Mononit [Cymicox |0,157| 0,18] 0,14] 0,04] 0.43| 1,75| 1,51| 2,67| 0,765 0,55| 0,017] 0,7| 2,6{ 10,9 52,9| 14,6 183
6| 136] 3.,7|Brokc Cymicox | 0,169 0,19/ 0,13] 0,06] 0,65 0,039
CepenHe 3HaYECHHS 0,177 0,20 0,14 0,05 0,64 1,79 1,52 2,67 0,753 0,61 0,028 0,7 2,6 109 52,9 14,6 183
Cep.-KBaJipaT. BiIXHIECHHS 0,018 0,01 0,01 0,01 0,16 0,05 0,01 0,00 0,017 0,089 0,009 ’
KoedimienT Bapianii 0,099 0,07 0,09 0,18 0,2 0,03 0,01 0,00 0,022 0,146 0,340
ITE 4
2| 124] 4,6|Mononit |llicox 0,177 1,85] 1,57| 2,65] 0,686/ 0,68 0,1 o,6] 15.6] 78,7 3.1 19|
2| 125| 6,0{biokc ITicox 0,240 0,3| 5,5/ 88,6/ 4,0/ 1,6
3| 129| 7,6|broxkc ITicok 0,253 0,2| 0,8| 30,9 64,4 1,71 2,0
4] 132| 4,5|Mononir |Ilicok 0,194 1,89| 1,58] 2,65| 0,674| 0,76 0,6/ 1,3] 20,3] 70,3] 43| 3,2
4| 133] 7,0|brokc ITicox 0,249 0,2| 0,7] 10,7] 80,6] 5,0 238
6] 137| 4,3|brokc ITicok 0,257 0,4 0,7] 13,0] 78,8] 46| 2.5
6| 138] 7,5|Brokc ITicox 0,252 03| 3.1| 19,6] 684 6,7 1.9
8| 143| 7,0|Brokc ITicox 0,261 02| 19| 219] 71,51 33| 1.2
CepeniHe 3HaYCHHS 0,235 1,87 1,58 2,65 0,680 0,72 03 12 172 752 4,1 21
Cep.-KBaJiparT. BiIXHICHH 0,032 0,03 0,01 0,00 0,008 0,056 0,2 092 7,79 7,88 1,48 0,65
KoedinienT Bapiauii 0,135 0,02 0,00 0,00 0,012 0,077 0,6 0,78 045 0,10 036 0,31




